R 3 2B HE = (6 RBAR)
Ik BT EFHRERNFTEEYARRREMEREEER
(BREFE . |SHSEE)

(1FEF AU B - B )

. R x m |MBEOUM pappe BB pmavou—te | BERE
FB=E 91,000 - 103,000 101,000 138,000 -
HEEE 87,000 - 103,000 101,000 138,000 -
IREE - # = -7RT I 102,000 - - 139,000 - _
%ﬁibr?i’f&@ 74,000 - 69,000 77,000 136,000 -
155 - e 79,000 - - 139,000 - -
Ti5-BE- i 49,000 55,000 37,000 76,000 114,000 -
T B - - - - - _
ME= 55,000 62,000 42,000 85,000 128,000 -

X AREICIVHNGEE, BEUITLIEYMEONEEZZELENERMISEET HEET S,




	20_岐阜

